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*Required
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Email address *

2.  Name of the student *

3. Class roll number *

4. University roll number (if not received then fill your class roll no. here also) *

5. Course/stream/branch *

Mark only one oval.

B.com Honours. SEM 2

B com General SEM 2

6. Phone number *
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7. Aadhaar Number *

8. 1. is most influenced by the presence of extreme observation. (37

37aclihel ST 3YTEATT F FaH 37T TATAd giar g 1) *

Mark only one oval.

Mean #HYel
Median Rf3geT
Mode #AI

All. g

9. 2.Incase of open end classes ....... Is the most suitable measure of central

tendency. 39l TS FeldH & HATHA H ...... ha g Ygfed T & 3ugerd 3T & | *

Mark only one oval.

Median Af3IaT
Mean HieT
Both A&B. A & B &=t

None. IS T

10. 3.Inaperfectly symmetrical frequency distribution ,@Fﬂ?@mﬂﬁlﬁ
3gfed faeror &, *

Mark only one oval.

3 median- 2 mode = mean3 A3 - 2 AlS = ATET
mean -median= mode. FATEY - AT3T = faem|

3 mean - 2 mode= median. 3 s - 2 Al = AT
None of these 378 & IS off 7T&T
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11. 4. The data collected by investigator is called : 3f=d¥eh GaRT THIIT SCTH 2 points
Hel ST g: *

Mark only one oval.

Primary data 9Taf&e ser

secondary data ATEITH® 3aT
statistical data ATTEIHIT 3T
None of these 318 & &S gl

12. 5. Information through mailed questionnaire is suitable where #ef & 318 2 points
TREATI N o ATEAH J ST 3TF g *

Mark only one oval.

The area of investigation is limited ST T &1 @fAT &

information is needed on regular and continuous basis STERRT #I FIAT 3R TR
HTUR 91 TS ¢

a high degree of accuracy is required TEhdT ST Teh 3Td 3T HT AT &
the informants are educated H@TRT &1 RATET faar Srar &

13. 6. Title given to the columns of a table is called : fRET ATferT & TIHT T GAT 2 points
T 2Nk gl STl &: *

Mark only one oval.

Caption 2=
Title e

Stub ¥co

Head note g8 dAle
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14. 7. Atable that shows more than one characteristic of data is called : SeT&TI 2 points

T O 3178 AAwar3ft i g2l arelt arfelerr sl gr ST &: *

Mark only one oval.

Complex table FHiFcoFy ool
Derivative table egcTeet arforenr
Double table 3§eT ¢aol

General purpose table IMHT T3Sl dTfolehl

15. 8. The objective of diagrammatic representation is : IR ITAATIT R 2 points
37Tt

Mark only one oval.

Classification g3ffergor
condensation T&TguT

Summarisation TRILT

presentation STl

16.  9.The total angle at the centre of a pie diagram is : Ueh TS 3G o she H el 2 points
HIoTE: *

Mark only one oval.

360 °
180°
3.6°

0.36°
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17. 10.The words ‘mean’ or ‘average’ only refer to : ATET 'IT’ 3T Teet FT hdeT 2 points
3ol %‘: *

Mark only one oval.

Geometric mean SATAATT ATET
Median Af3ae

Arithmetic mean 3haTTOId ATET
Mode A3

18.  11.f mean of x is 40, then mean of y =7x+9 is : ATE x FT HT 40§, ATy FT 3T 2 points
=7X + 9%": *

Mark only one oval.

280
290
289
300

19. 12. Daily wages () of families are 280, 180, 96, 98,104 ,75,80,94,100, 2 points
75, 600 and 200 respectively What is arithmetic mean ? 9RaRT $r &faew
HG!’E{?[ (wages) HR: 280, 180, 96, 98, 104, 75, 80, 94, 100, 75, 600 3R 200
| JRIATOTAT FAT? *

Mark only one oval.

16.5
14.5
10.5

None of these SsT8 & HIS 8T
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20. 13.If the mode is 15 and median is 12, then arithmetic mean will be : ITE AS 2 points
15 & 3R ALTAT 12 §, aF heTTOIcd ATET gIamm: *

Mark only one oval.

28
15
12

None of these 318 & &S gl

21. 14 .Median of 70,80, 60,50, 55, 65,60, 60,40, 601s:70, 80, 60,50, 2 points
55, 65, 60, 60, 40, 60 & AfZTT§: *

Mark only one oval.

60
65
55
70

22. 15.Modeis: Al g: * 2 points
Mark only one oval.

Middle most value HET HH 318k Hed
Least frequent value &H J8T Hed
Most frequent value HH oHTTAR Hed
All of these ST @Y
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23. 16 . The measure of dispersion which ignores signs of the deviations froma 2 points

central value is : thelTd &1 AT ST &I Hed § faeelel 3 Hehdl hl 3U&T HdT o

*

Mark only one oval.

Standard deviation Tl faaTeret
Mean deviation #HsT [aTelel
Range {7

None of these 35131 & HIS oTgl

24. 17 . Which of the following is the best measure of dispersion fdF T H A &l 2 points
T telld Sl Jad 3T 3UTT & *

Mark only one oval.

Standard Deviation #TeTeh fadelet
Range &

Quartile Deviation TT¥eh faerers
Mean Deviation #HieT faaeret

25. 18.Mean deviation can be obtained from : 3T faTreeT @ UTCd RAT ST ThdT 2 points

e
Mark only one oval.

Mode #Ig
Mean Hie
Median AfSIaT

Any of these 373 ¥ &I oft
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26. 19 . Which of the following is relative measure of dispersion ? @& H T HlT 2 points

1 thellg FT AT AT 872 *
Mark only one oval.

Coefficient of variation fesTc T [uTieh
Variance [esT

Standard deviation HTsTeh faaere

All of these & Tt

27. 20 .What is the range for the following data ? 50,-10,12,18,75,78,80 .
fAFAfaf@d ser & fow dAT T g7 50, -10,12,18,75,78,801 *

Mark only one oval.

90
80
70
45

28.  21.Trend refers to along term tendency to : ¥gfcd Teh &reretieres Ygfed l
Heffd adrg: *

Mark only one oval.

Increase only Fael FeTT
Decrease only ST shdel
Either increase or decrease T dl gfg AT AT

None of these ®$ 7T &
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29. 22.Seasonal variations repeat during a period of : HIGHT SgelTd I @™ 2 points
SR GIgxTT: *

Mark only one oval.

Five years 9T @Tel
One year Ush dTel
seven years 9Td dTel

None of these 318 & &I AR

30. 23.Fisher's ideal index number is : fh2R T 37T S3FH AT & * 2 points
Mark only one oval.

The arithmetic mean of Laspeyre's and Paasche's method am&@daR 3K &2 T ugfa &1
3heTTOrdIg ATET &

The geometric mean of Laspeyre’s and Paasche’s method STaaR 31X arel i fafer &t
SATTAAT ATET §

The median of Laspeyre’s and Paasche’s method STadTR 3T areY &7 fafer & e &1
None of these 318 & &S gl

31. 24.Llaspeyre’s method and Paasche’s method do not satisfy : FTEYIR Fr 2 points
farfer 3 areY &t fafer Efse w1gT el g *

Mark only one oval.

Factor reversal test thaex Rawier exc
Time reversal test T8d Ra¥iel c¥e
Circular test TR ¢Fe

None of these 318 & &S gl
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32. 25.The cost of living index (C.L.|) is always foIfdsr S3ed (C.L.I) I SRTT AT 2 points
Bl *

Mark only one oval.

Weighted Index #TR Frehich
Price Index H{ed Faehieh

Quantity Index AT Feehieh

None of these 318 & &I AR
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